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Prospec- Some real-data examples (from Agresti,
?ﬁ‘{g Categorical Data Anslysis) expl. -
« From Agresti (2002, 2/ ed.) (MI) (Aspirin)
4 Ist person.  Yes No
F——TABLE 3.1 Swedish Study on Aspirin Use and )
2X2 Mpyocardial Infarction < Yes/No Yes/No cs 2nd . : A{O :
wn:bugency Myocardial Infarction . . Yes
tuble Yes No Total ]360'"" : .
Placebo 281 <+ 656 = .
Aspirin 18] + 658 = }Md(é!) —b | N | count J_‘Cl
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« From Agresti (2013, 3" ed.)

Table 6.9 Clinical Trial Relating Treatment to Reseunse for Eight Centers, with Expected
B.W Value and Variance (of Success Count for Drug) Under Conditional Independence
contingency
table

p- 2-9

Nrg1qN1g2 4 Repone suppose Fixed (Br)
Center Treatment | Success Failure Odds Ratioem Mo var(n )
'_3 ~r
1 Drug ¥+ X=[3p] i 1036 379 IcC.1
Control 10 <= 27 =|37 . .
2 Drug 16 4 4 =|20| 182 14.62 247 bmomml (glc R PI,C)
Control 22 4= 10 =132 .
3 Drug 14 5 4580 10.50 241 fixed knowavalue = I
Control o . 12 o] @ W
Drug 2 14 2.29 diﬁ&ér- 145 0.70
Control 1 16 e s n :t ’-
. I
Drug 6 1 00 352 120 @: how (T.C).i
Cor IRy their main effects & intoracti
Drug 1 10 00 0.52 025 ,
Control 0 10 lnﬂume P"',C S ?
Drug 1 ® 40 ]o 2.0 0.71 0.42 —
Control 1 8
8 Drug 4 <+ 2=(6 0.33 % 4.62 0.62
Control 6 4= I =\7
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